EHER VESSE I IRA S

. ik (3AEmEE]: Sept. 25, 2023)

1. [18-1] #% A . B NWAEENLEFME, & P(A) =05, P(B) =0.6 , P(B|A) = 0.8 , 35k P(AB) }% P(AB) .
2. [19-5] %ﬂﬁ AHFTENGAE “RIAF BRI MO B A 25% i9SA 30% e 12 BIWoR A N
WA RS A H . BIFERRI, FE—XF R QR S IR X — 12 H, WA 80% My2E 1t 2 ik
BXH . BAZHFE X R, K

(1) TR RIA R SR TR A H AR
(2) XXt B AE A N GEICR 4 H rfiR
3 [19-6] —ARHPA A BB 6 A RRER, KU R IRIZEAN I, B 4 A EERERIBUE A 1k, SRIGEFICT 6 UAIHE

4. [20 10] Wii‘ﬁﬁ 3 MY AIRIBET, SR SR AR, SREA 1 AN 1 SRR,
5. [23-20] 5L A . B APIAEENLEME, H 0 < P(A) < 1,0 < P(B) < 1 P(B|A) + P(B|A) = 1, iEBHF A 5
B *ﬁﬂ@»i
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1. [18-2] % A . B NFABEHIE(:, P(AB) =025 , P(B) = 0.3, P(AUB) = 0.6 , 3k P(A— B) }t P(A|B) .
2. [19-4] —FZ B FE P IA 100 5%, HPg 60 JEI“;%ZIK-EE%H 40 JEXED, B IAPLER N 100 168 s ik
R, U, SRS = A I B A

3. [19-8] SEHA m ASEERA n A HRER, U\EF‘FJ}L?HHEXW/\ RIEATRE [ R, SKIE 3 ARt

4. [20 9] A BB L2 ST RERY, 51 3 MZTMRER, CHA 1 MRBE KEVHE 1ML

SN A L B . O RIEE 8 AFE L P(C) > 0. EW
(1) P(AUB|C) = P(A|C)+ P(B|C) — P(AB|C)

S

(2) P(A- B|C) = P(A|C) — P(AB|C)
(3) P(A|C) =1~ P(A|C)
6. [22-16] 59+ A 5 B 1oy, H P(AB) = §, P(AB) = P(AB), 3k P(A) , P(B).
7. [22-17) WFH 4 A L B . C WM ES, H P(A) = P(B) = P(C) =04, P(ABC) = 0.1, 5k P(AUBUC),
P(A|C) , P(C|AB). B
i- [22;91525 2n ATel, BATTAR TR RS p . BOR IO RGEM ATEE R, B Ao R R IER TR
R VAHE

(1) & n DICPFRBN— T RLE, FHEPAD T RGOk
(2) BMWATCAFHFIRE T RE, HE n T RGP




